SUMMATIVE ASSESSMENT-I, 2012 - 13
SUBJECT : MATHS

TIME : 3hrs. CLASS : 11 M.M.-60

NaME ©. e Roll No. ...... Sec:....... Date:............
SECTION - A

= Each question carries %2 mark. (10 x %2 =5)

> Fill in the blanks :
1. 100 + 60 + 3 = ...........

2 15+3 = ...
3 2 X8 = ...
4 2hundreds + 4tens + 5o0nes = ...........
5 8 - ... =7
6 12 - 10 = .........
= Match
7. 6 +10 3x2
8. Sixty 16
9. DA GA A QA Gk gk g 715
10.  Seven hundred fifteen 60
SECTION -B

w= Each question carries 1 mark. (15x1=15)
11.  Give the number that comes after.

a) 172 ... b) 169 .........
12. Write the number name

Q) B4 -

b) 30 -

13. Fill in the blanks.

7 hundreds +80nes = ......oevvvviinnnn.




14.  Give the place value of circled digit.

= Add :-

15. 41 16. 13

18. 35

19. 79

20. 70 -20 =

21. o 2 = I There are _3_ flowers.
e = & —
Each flower has ......... petals.

Thereare ......... petals in all.
22.

23.  Ring the smallest number and cross out the bigger.

468 215 603

17.




24.  Form the number.

7
50

300
25. Give the number in between :

319 ... 321

= Each question carries 2 marks.
26. Circle the even numbers.
5 7 2 4
27. Fill in the missing numbers.
135, : , 138,

28. Fill in blanks

SECTION-C

(11 x 2 = 22)

Tisthe ............ letter in TABLE.

Nisthe ............. letter in MANGO.

= Add the following
29. 67

30. 34




32.  Use number family of 9, 7, 16 to complete the following-

a) 9+7 = c) 16-7=

b) +9=16 d) 16 - =7

33.  Show as repeated addition and multiplication.

...................................

34.  Give the number before.
[ ] 00 [ ]

35.  Write the number names.

S
000 = e s
36.  Multiply
a. 10 b. 14
X 2 X 2
SECTION -D
. Each question carries 3 marks. (6x3=18)
37. a) Arrange the following in increasing and decreasing order.
115 51 150
Increasing  ...ocooviies i e 1Y%
decreasing order ............  cciciiiiien e
b) Write expanded form of : 1%
108 = ...... hundred + .....tens + ........ ones

38. There are 32 girls and 21 boys in a garden. How many children in all?




39. Arun has 14 stickers in his album. Amrita has 29 stickers. Who has less stickers ?
How many less sticker does she have ?

41. a) 100 more than b) 100 less than ¢) 10 less than (1+1+1)

T0610S .ivveeaannnn, 205108 oiiiiie e, 99910S i,

253108 o, 1560S vovviieeiine 600 1S .ovveviiiien,
42 Fill in the place value of the following. (1% +1%)

a

) 432
I
b) Give expanded form of 508 = ........... L
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Time : 3hrs.



       Class : II 




M.M.-60

Name :…………………………………………  Roll No. ……  Sec:….…  Date :…..………

SECTION – A  


( Each question carries ½ mark.






     (10 x ½ = 5) 

( Fill in the blanks :


1. 100  +  60  +  3   =   …..……


2. 15  +  3   =    ………


3. 2   x  8   =   ..……..


4. 2 hundreds   +   4 tens   +   5 ones   =   ..……….


5.  8   -   ……   = 7


6. 12   -  10   =  ………

( Match  :


7. 6  + 10





3 x 2

8. Sixty






16

9. (((   (((




715


10.  Seven hundred fifteen



60


SECTION – B  


( Each question carries 1 mark.






    (15 x 1 = 15)


11. Give the number that comes after.


a)  172     ……….


b)   169    ………

12. Write the number name 




a)   54
  -   ……. ……………………………



b)   30   -   ……….……………..…………..

13.  Fill in the blanks.


  
 7 hundreds  + 8 ones   = …………………

14.  Give the place value of circled digit.





4   6   2    ……………..


( Add :- 





15.       
41


                  +  7


       ---------



       ---------

( Subtract : -


18.           35


             -     2


                -----------



    -----------

19.  
  79


              -    23


          
      -----------



     -----------

20.      70  - 20   =   ……..


21.  


  

There are _3_ flowers. 


                                      

Each flower has ……… petals.







There are ……… petals in all.


22. 





       2 groups  of  10  are  ………..



       2 x 10  =  ………..

23. 
Ring the smallest number and cross out the bigger.


468

215

603

24. 
Form the number.


25. Give the number in between :


             319   ………    321

SECTION – C  


( Each question carries 2 marks.






     (11 x 2 = 22)


26. Circle the even numbers.

 5  
 7 
2 
 4 
 1 
 6
  3
  8

27. Fill in the missing numbers.



135,   ______,     ______,   138,    ______,     ______.  

28. Fill in blanks 


T is the   ………...   letter in TABLE.

N is the  …….……  letter in MANGO.

( Add the following

29.

          6 7


        
      +  3 5




   ------------



   ------------

30. 
         3 4

        
         5 2



                      + 1 9

 

  ------------



  ------------

31. Subtract  the following




         40


        

      -  15



  ------------



  ------------

32. 
Use number family of 9, 7, 16 to complete the following-



a)  9 + 7  = 


c)  16 – 7 = 


b)            + 9 = 16

d)  16 -              =  7

33.  
Show as repeated addition and multiplication.

  ((   ((   ((    ((     ……………………………..

 





      ……………………………..

34.  
Give the number before.





 800   



 421


35.  
Write the number names.


425    -   ………………………………………………….


900   -   …………………………………….…………….

36. 
Multiply 


       
a.        10


b.        14


              x      2                                   x  2

             ----------

                ----------


             -----------


      -----------

SECTION – D  


( Each question carries 3 marks.






      (6 x 3 = 18)


37. a) Arrange the following in increasing and decreasing order. 




115
  51
150                     



Increasing
…………    …………    …………



1½ 


decreasing order   …………    …………    …………





       b) Write expanded form of :







1½


108  =   …… hundred  +  …... tens   +  …….. ones  

38. There are 32 girls and 21 boys in a garden. How many children in all?


 





…………………………………

39. Arun has 14 stickers in his album. Amrita has 29 stickers. Who has less stickers ?


      How many less sticker does she have ?



…………………………………

40. There are 4 pencils in a box. How many pencils are there in 2 boxes?

    



…………………………………   

41. a) 100 more than 

b) 100 less than
       c) 10 less than   

  (1+1+1)


706 is ……………..

     205 is ……………..
999 is ………………..


253 is ……………..

     156 is ……………..
600 is ………………..

42 Fill in the place value of the following.




         (1½ +1½)


a)                 



b) Give expanded form of 508 = ………..  +    …………  +  …………


------------------






432















17. 	     6



		     2



                 +  3



          ----------



         ----------







16. 		13



                	20



               +	25   	



	   	     -----------



	    	     -----------







300















50















7
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